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11,603,212 8,591,037 3,012,175
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& 193,795
iy 8,336,417
SEASHFS A 3,461,876 228,086 3,233,790
= 2,893,000
& 133,000
iy 435,876
506,389 26,646 479,743
= 224,000
iy 282,389
dotx dAaze 6,500 14,500 A8,000
201 2H2dy 6,500 7,000 A500
01 AtR2tel 4,000 5,600 A 1,600
O[det=ZH| 4,000
O&SIE Ot S M MIE
2002 = 10,0000H 2,000
024y A 42
10,000& * 200JH 2~ 2,000
02 2229 2,500 1,400 1,100
o222 2,500
OAJXEA O RERZ
250& = 10,0000H 2,500
SHNHGANE 2H 37,320 7,749 29,571
201 «8E49H 37,320 7,749 29,571
02 2224t 37,320 7,749 29,571
olzse3 7,320
Oosrat & A2 M|
= 600,000& * 12& 7,200
08t o Hstol M3
10,0008 * 128 120
O[AI&ZHI S X8l ] 30,000
OYaA = Xl &2l gl
10,000,000& * 14 10,000
O 24 EH Bt ot& S Xl22ldl
20,000,000& * 10HA 20,000
SEEA A 3,147 4,397 AN 1,250
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201 Lt 3,147 A1,250
01 AtS2cld] 1,530 A1,250
Oolget=g4l] 1,530
OZS3&EY BB
70,000 * 15044 1,050
0= HIAES
20,0002 = 294 « 12& 480
02 322934 1,617 0
Ool2=22 2 HMAl] 357
OZSaEA IS 357,000& = 14 357
O[AM&EEHI=XIY] 1,260
(OR=3-I PSRN R gul a |
1,260,000& * 14l 1,260
M2ae|dl 28 11,422 11,422
101 el2H] 6,922 6,922
10 JIZtH2Z2AsSE* 6,922 6,922
OMAEHl eyl
34,610& * 1021 » 43| = 5 6,922
206 M= dl 4,500 4,500
01 M=l 4,500 4,500
O==MAlE 2 45,000% » 50m » 23] 4,500
MLRFMY I XY X L =A 448,000 448,000
= 224,000
= 224,000
101 el 134,365 134,365
= 67,183
= 67,182
10 JIZtH22AsSE=+ 134,365 134,365
OFFMYII=H AR Y
34,6103 * 202! * 83.707 57,942
= 28,971
T 28,971
ORSAYII=HARY 4H2E=
57,942,000& * 0.125 7,243
= 3,622
i 3,621
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= 4,590
[ia 4,590
201 LErEEH| 24,000 0 24,000
= 12,000
= 12,000
01 AtR2cidl 24,000 0 24,000
Olger=84l] 3,000
ORSMalIMel 225 2L
3,000,000& * 1A 3,000
= 1,500
[ia 1,500
Ol=&tl] 1,000
ORSsMedi=HHel Sl
5,000& * 401 * 50 1,000
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s 500
Oolgxz] 20,000
ORSMedl =H de AX=
200,000& = 1CH = 100 20,000
= 10,000
o 10,000
202 Oddl 4,000 0 4,000
= 2,000
= 2,000
01 U0t 4,000 0 4,000
OFFAHIl=H oYl
20,0008 * 491 » 50 4,000
= 2,000
s 2,000
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05 QIZtEZ 164,771 0 164,771
ORI =AM
400,000 * 411.927&€ 164,771
= 82,385
i 82,386
401 AIEHILROY| 120,864 0 120,864
= 60,432
i 60,432
01 Al&HI 120,000 0 120,000
O[AI&H] 120,000
ORFMADl Xt 2 2% AX|
400,000& * 300m 120,000
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o 60,000
03 Al&=0Hd] 864 0 864
OSRMI| TESt L ST HXALS
CHdl 120,000,000& * 0.72% 864
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SAHS3HEAIE FBHAR 2,955,487 201,440 2,754,047
= 2,669,000
& 133,000
= 153,487
SMH=SSHelAIE4X 1,270,974 0 1,270,974
= 1,137,974
& 133,000
403 TXIEMSA201H 1,270,974 0 1,270,974
= 1,137,974
& 133,000
02 ZBI/2SOCHSTHAS B 1,270,974 0 1,270,974
OsdH+33HelAd &X
1,270,974,000& * 14 1,270,974
= 1,137,974
& 133,000
NEEZESSHEAE 22 1,684,513 0 1,684,513
= 1,531,026
i 153,487
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307 2IZ2t0lA 1,684,513 0 1,684,513
= 1,531,026
= 153,487
05 QIZtREZ 1,684,513 0 1,684,513
Ot=2=E3XelAld 2Z|
280,752,166.6& » 68 1,684,513
= 1,531,026
o 153,487
HIIZ2 2 6,342,094 4,991,436 1,350,658
= 180,000
= 21,580
i 6,140,514
HOIZ2 Hel 136, 187 117,018 19,169
= 21,580
= 114,607
FsHUY =HEd3a XN=a 80,400 80,400 0
& 16,080
= 64,320
301 Lptsazg 80,400 80,400 0
& 16,080
= 64,320
12 JIEI2 A3 80,400 80,400 0
OHBIE+2NFIZ NS
50& = 1,608,000kg 80,400
< 16,080
i 64,320
sALEH g dXAY 11,000 8,000 3,000
& 5,500
= 5,500
206 M=l 11,000 8,000 3,000
& 5,500
= 5,500
01 MZ 4l 11,000 8,000 3,000
Oseld =g +¢ 500,000& * 2294 11,000
< 5,500
o 5,500
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OMYD| BHEI| G oY
34,6102 * 491 + 602 8,307
201 L2yl 5,300 2,000 3,300
01 AFR22lt] 5,300 2,000 3,300
SIEEIES=11T) 3,300
OHIIZEYSI DB M
300,008 * 10HA * 119} 3,300
Olgxt2] 2,000
OHIIZEHINY 20 FUIASE
500,008 * 43| 2,000
307 IO 2,000 2,000 0
05 DIRISIE3 2,000 2,000 0
OYXIHIIS(ASR) It H 2yl
500,000% * 4CH 2,000
HAWE +&Hel 29, 180 15,200 13,980
201 LPr2 Yyl 4,180 4,200 A20
01 AFR2elt] 4,180 4,200 A20
Olger+gt] 0
Olgxt2] 4,180
OHIIEHE StHel E3 Yx2
495,008 * 43| 1,980
OHYZS fIgHel E21 Ux2 2,200
05E E3 600,008 * 13| 600
02.5%8 E2 400,008 * 43| 1,600
307 eI2t0H 25,000 11,000 14,000
05 CIZFeIErs 25,000 11,000 14,000
OHE&4X SISHMelll 250,002 + 100 25,000
A2ANE 2 330,320 591,920 ~261,600
A2AAE e 100,720 219,400 ~118,680
401 Al&HI L2 100,720 219,400 ~118,680
LI 100,000 218,000 A 118,000
OBIISAZAE HY24
100,000,008 * 14} 100,000
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03 Al&=0iH] 720 1,400 2680
OHJIZS A2AIE HHI24 20|
200,000,000 * 0.36% 720
HIIS2XM2IAIE =802 X 229,600 372,520 A 142,920
401 AlSHIL20HY] 209,600 352,520 A 142,920
01 Al&H] 208, 160 350,000 A 141,840
O[AAIEAHH ¥ S24HHI] 8,160
OHJIS AZAIE FHOIS F0I=2AA
o AlAlAHH 350,000,000 * 2.3314% 8,160
O[AI&EH|] 200,000
OHJISXMEIAIE FHOIES FoUSIAY
(23, a=) 50,000,000 * 2J4 100,000
OHIISALAL =H LSH - Higel
FOl=QI AL 50,000,000 = 2J40t2 100,000
03 AlE=20iHI 1,440 2,520 A 1,080
OHJISHCIAAE L A2AL FHOIS =
Dlz==21 AL S2[HH| 200,000,0002 * 0.72% 1,440
402 QIZtXH=0|® 20,000 20,000 0
01 RIZtXE8X 20,000 20,000 0
OA2LE Z=BOISE X (4017)
5,000,000 * 4Jt3 20,000
HIOIS™M2IAlE 2 FHOIS Fo=2AAY 5,488,213 4,121,220 1,366,993
= 180,000
= 5,308,213
DRIt ATRAME (A2AIA)A X 1,000,000 500,000 500,000
403 XX ESHER=Z0lH 1,000,000 500,000 500,000
02 ZIIZSOICHEHIHSH A HI 1,000,000 500,000 500,000
OIS AXAME (AAXAIL) AX
1,000,000,000& * 1Al 1,000,000
SZEHJISH™H2IAIA (R AIL)EX 2,071,825 1,285,000 786,825
401 Al&HILLCHY| 2,071,825 1,285,000 786,825
01 Al&H] 2,058,775 1,260,713 798,062
O[EXIHHI] 1,362,000
SZHIISX2IAZ(HEAIE) EXIOH
oIy 1,362,000,0004 * 1Al 1,362,000
O[AI&HI] 696,775
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sEHIISMelASZ(HEAIE) &X
696,775,000& * 14l 696,775
02 Zcltl 9,450 19,661 A 10,211
sZEHJISHM AL (IHEAIE) el
500,000,000& * 1.89% 9,450
03 A4S0 3,600 4,626 21,026
O=ZHJISM2AIE (N AA) 20|
500,000,000& * 0.72% 3,600
SSMHESIIPAE &X 1,655,940 0 1,655,940
= 180,000
i 1,475,940
401 AIEHIZL 20| 1,655,940 0 1,655,940
= 180,000
= 1,475,940
01 A&l 1,650,000 0 1,650,000
O[Al&HI] 1,650,000
OZZEMESIIEAIE EX A
1,650,000,000& * 14l 1,650,000
= 180,000
s 1,470,000
03 AlZ=04dl 5,940 0 5,940
OSZMEEI|IEAIE EXIAMS 20U
1,650,000,000& * 0.36% 5,940
A& HIIZXelAld A 20,480 19,480 1,000
201 LEH23H] 480 480 0
01 AtR2teld 480 480 0
Olger=2tl] 480
OEZII=ANEHR JIIEEE
250& * 1,9200H 480
202 OdHl 5,000 4,000 1,000
01 =LAl 5,000 4,000 1,000
O3 AE d&X Ast 1,000,000& * 53] 5,000
301 YBtEa= 15,000 15,000 0
10 BAIAHIENS 15,000 15,000 0
OHJISHMeAEEX FHOISFL AKX
Astald| 2 4| 150,000& = 202 = 53] 15,000
239,968 1,005,400 AT765,432
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401 Al&HI L0 239,968 1,005,400 NT765,432
01 Al&H 239,968 1,000,000 AT760,032
O[EXIHHI] 39,968
O EAXNAHH(ALUAE)FH EX
O & 8,000& * 4,871m' 38,968
ORSANAME FHEX SI442
1,000,000& * 14! 1,000
O[Al&Hl] 200,000
OHIIZXM2IAMNE(AZAIL)FHOIS =
U=AAL (ZAH) 200,000,000 * 14! 200,000
2 HII2 WEAE =H0e X2 500,000 506,300 A6,300
402 QIZHXHE0|H 500,000 0 500,000
01 Q2ZREEE=X 500,000 0 500,000
OHIIZHMelAIE(HEAIE)=60tE X
500,000,000& * 14 500,000
HIOIZH2AE 29 237,834 0 237,834
DS EXNRALE (ALAL)2S 110,019 0 110,019
201 B9 102,519 0 102,519
01 AtR22ldl 2,520 0 2,520
ol2g+¢] 2,520
OFHIEN S FOXJAIZ AAAAT
EALg 70,0002 » 201 * 43 560
OFUNAEAN 319 HA+gy
70,0002 * 791 * 43| 1,960
02 B329Hl 99,999 0 99,999
Ola222 ¥ HAl 47,700
OALUAN4E 28 MIIR=
14,700,000 = 33 44,100
OALZUANE B2E =5ER=
400,0002 * 3 1,200
oAUz MI| ot 2te| CHEH HI
800,000 * 1JHA = 3¥ 2,400
O[e24l] 6,843
oOA2tZ BEXAZH|
1,140.49 » 2,000¢ = 3 6,843
O[AIZ & HIRXIH|] 45,456
OYXIAIA AZEH 8,000,000& * 3¥ 24,000
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SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
OAZ=2 NIEFEHI 852,000& = 3 2,556
OA2tAld | Xl2teldl 6,300,000& = 3& 18,900
307 glz2told 7,500 0 7,500
05 GIZtREZ 7,500 0 7,500
OX2TH(HIAH) 2IEHH el
2,500,000& = 3& 7,500
sSZEHJISMelAEZ(HEAIL)2S 90,315 0 90,315
201 LEHREH| 73,715 0 73,715
02 223244l 73,715 0 73,715
OlBBR232 < HA 12,000
OEAE 2& &IIe3
4,000,000& = 3& 12,000
O[AM&E&HI=XIYl] 27,500
OHEAIE SAl2eltl 5,500,000& * 5& 27,500
O[ Xt etdl] 34,215
O&¥H RF 1,140.49% = 400¢ * 75 34,215
401 AIEHIZLROY| 16,600 0 16,600
01 Al&HI 16,600 0 16,600
O[AI&Hl] 16,600
OHE & =& 8,300& » 2,000m 16,600
SSMHESIIPAE 2Y 27,000 0 27,000
201 LEHRHH| 27,000 0 27,000
02 232944l 27,000 0 27,000
Ol3=22 2 HAll 9,000
OMESIIEAIE 28 HIIR=
1,500,000& = 62 9,000
O[AIZE IR Xdl] 18,000
OMEEIIEAIE S X2cltl
3,000,000& = 6& 18,000
2 LIANE 2E 10,500 0 10,500
201 ZEH2IH] 10,500 0 10,500
02 223244l 10,500 0 10,500
Ol22R232 % HA 1,500
og=  ZIANL 2d HIIR=
500,000& * 3 1,500
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SN EB -GS - MBAY - BES arey e HRE2
SIREEEELED 9,000
OYE - TZAE R
3,000,0002 * 3% 9,000
S8yl 2 149,540 161,278 A11,738
SM | Hel 149,540 161,278 A11,738
201 sr2 | 2,340 35,678 £33,333
NEEE 480 33,830 33,350
Olger+gHl] 480
OSASMY I £XH44E DA 7Y
80,0008 * 622 480
zz2 | 1,860 1,848 12
O[B2R23 < MAll 1,860
OSAZAYIILN 448 IXN 2
eE7Y 2502 * 6200 * 122 1,860
07 QI2tOIF 120,000 119,000 1,000
EIEEE 120,000 119,000 1,000
OSASMY Il et K el
56,0002 * 5.87084E * 3652 120,000
405 THHFE S 27,200 6,600 20,600
EIEEEET 27,200 6,600 20,600
OZASMI| HE 28I 7Y
50,0008 * 5447 27,200
e 1,161,113 1,060,991 100, 122
Mol el 521,418 481,095 40,323
M0 231Hel 438,080 400,520 37,560
01 Q21| 18,440 20,560 ~2,120
ESIFEEEPU=P 18,440 12,720 5,720
O=Z032% II=H (0FFX) S)
200,0008 * 539! 10,600
ODIste MATHHEE 2
224,000,000% * 35/1,000 7,840
201 Ler2 | 3,140 17,460 ~4,320
NEETEN 6,740 10, 140 A3,400
Olger+gHl] 5,900
ouEMI| EE22 M
5,000,0002 * 141 5,000
OMBMYI| BUHWED AEI3 K 900
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0 Y BHMY D 3002 * 1,5000H 450
o SASMY D 3002 * 1,5000H 450
olegse] 140
oNMEsESooU2220I2 AR
EApg 70,0008 * 291 * 13 140
Ol=&4l] 700
O&AHDNITIRY NSEA Z 2|
7,0002 * 100Q! * 13 700
02 B2Z2=2IH] 6,400 7,320 A920
O[Xtaetdl] 6,400
OMEEE 21X 29H|
400,0002 * 122 4,800
OFAXSEM Y &85 BHSTHE
1,600,000 = 1CH 1,600
206 Mz 4l 50,500 50,500 0
01 MZd 50,500 50,500 0

5,000 = 10000 = 11002 5,500

OXgJ| SEH S5 M=

4521 * 1,000,00004 45,000
307 QI2t0IF 300,000 156,000 144,000
05 CI2FeIEr3 300,000 156,000 144,000

OHDIZ FI= R el 10,0002 * 3,000 300,000
405 XtoarzE S 56,000 156,000 £100,000
01 KMUSEHSH] 56,000 156,000 100,000
OFAXEZ W 50,000,002 * 1CH 50,000
OMERE 224+ 2717
600,0002 * 1074 6,000

A2AAE KR 2R 77,258 76,935 323
101 QI24H| 23,521 16,978 6,543
10 JIXHIZNELS 23,521 16,978 6,543

OMEBE 27 o=y
34,6102 * 201 * 2602 17,998
OMEBE 2012y Fr4Y
34,6102 * 201 + 522 3,600
OMERE +Ji0l9y ALPEE
21,508,00091 * 24/1,000 519
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SN FEEESEENIFEEEE
21,598,0008 * 20/1,000 432
OMESE 42 RizRL3
21,508,000% * 45/1,000 972
201 L2yl 51,137 54,757 £3,620
01 AFR2elt] 24,758 24,758 0
Olgxza] 24,758
OHIIZHRIAE SXABR
1,500 * 4,906 7,359
OMHUIINYR A5+ SUY UXE
8,0002! * 60.413m * 3H4 * 122 17,399
02 ZT2Y| 26,379 29,999 £3,620
OlZZRILHAM] 1,320
0422 FIIQHER| HEb|
110,008 * 1044 + 122 1,320
O[ANARYISXIHI] 25,059
OMEE Xots +HAMN 248
72,8052 * 94 * 122 18,663
0422 XIEHY] 533,008 * 123l 6,396
307 eI2t0|H 2,600 5,200 A2,600
05 CIZFeIErs 2,600 5,200 A2,600
OAZETH(HIATH) IR 2l
260,0009! * 10 2,600
IEHIZ 25 6,080 3,640 2,440
201 L2yl 6,080 2,340 3,740
01 AtR22lt] 6,080 2,340 3,740
SIEEIES=11T) 6,080
OZEHEZA2E 228 7Y 3,000
o & 2,00020 * 1,2500 2,500
oZ 2502l * 2,000% 500
OZEMERSS 249 X
70,0008 * 1204 * 23l 1,680
OBABAHY 49 M
70,0002 * 2000 1,400
MEMFYI| B2 (SHADR) 639,695 579,896 59,799
MEMYI| SAHFE 350,299 226,604 123,695
101 Q12| 124,463 50,804 73,659
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O H Ml =H R
34,6102 * 201 * 152 * 10% 10,383
OGMSHEN Mgl =) oY
34,6108 * 221 = 15 « 10& 10,383
O=2CH FHAX MYI| =HEE L o122
34,610& = 100! = 15 * 12& 62,298
OL5 Al E 21| 25,270
ogds 34,6108 * 221 = 73 5,054
oux=H 34,6103 * 201 » 73 5,054
OANS&H 34,6108 * 291 » 73¢ 5,054
OZAH 34,6108 * 2021 * 73 5,054
OstarH 34,6103 * 291 » 73& 5,054
OMS2QEH 01832 oA
34,6108 * 291 x 53 3,669
OGLMLAIE Olat3 1A
34,6108 * 221 = 152 » 12& 12,460
201 et23| 195,336 145,300 50,036
01 At2t2ldl 6,100 6,100 0
Olgers=g4l] 6,100
OSY 0IstA HAE HIS 7L
50,0003 * 2721 * 43 5,400
OHA=Z 2I0It 24H 50,000 * 14CH 700
02 =322l 189,236 139,200 50,036
Ole=z4l] 1,320
OggL2E M) 2FU
1,140,493 * 96.449 ¢ = 128 * 104 1,320
O[AI2&HIKXIHI] 4,400
OgUA2E ZA)| =4HH|
1,000,000 = 23| = 1CH 2,000
oM Dl 28t A2J| =&l
300,000 = 2CH = 43| 2,400
O[ Xtk ety ] 183,516
O8H HAXY 23U 127,116
oYLt
1,140.49% * 5004 » 128 * 12CH 82,116
oBANE X
1,140.49% * 1,096 ¢ = 128 * 304 45,000
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EEEES YT 56,400
0 YT RFEY 80,0008 * 12CH * 43| 38,400
0SAS X 1,500,008 * 3CH * 43l 18,000
206 Mzl 3,000 3,000 0
01 M=l 3,000 3,000 0
OMYD| HEE AS%E 7
200,008 * 1504 3,000
401 AN&HILLHY 27,500 27,500 0
01 AlZH] 27,500 27,500 0
OlAI&HI] 27,500
OMADINEH =EH|
5,00020 11,000 * 50/100 27,500
A2ANE 2B 289,396 353,202 63,89
101 QI24H| 112,437 93,379 19,058
10 JIZH22NELS 112,437 93,379 19,058
042tz BxoIsy 26,997
ogYAAR 34,6108 * 291 * 2602 17,998
oa=sAR 34,6102 * 191 » 2602 8,999
OALRBEORY FHag 4,258
oggsnz 34,6102 * 201 * 472 3,254
CEPE- 34,6102 * 191 » 202 1,004
Ogg A=A2AZ BXLY AALEE
31,255,002 * 24/1,000 751
O A=A22 BXoRY DRYUHE
31,255,0008 * 20/1,000 626
Ogg A=Atz BXolge 2oigiaL
= 31,255,0008 * 45/1,000 1,407
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o AARE2 35,995,008 * 24/1,000 864
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o ngRE2 35,995,0008 * 20/1,000 720
oY 22T MYIILH 2elMgR
o 2IKZRYI 35,995,008 * 45/1,000 1,620
OYAWEES =eldg ARy
34,6102 * 491 * 2602 35,995
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35,995,0008 * 24/1,000 864
OYATEEE =eldgoRy IBSH2
35,995,002 * 20/1,000 720
OYATHEEE 2elHERY FUAZ
=3 35,995,000% * 45/1,000 1,620
201 ereoty| 176,959 259,913 182,954
02 ZZ2YU| 176,959 250,913 182,954
OlZZ223 < Al 25,300
OMFYIl 422 2% HIIRD 22,500
oges 1,666,6002 * 122 20,000
o Al=e 208,3302! * 122 2,500
OMYIIALY HER3
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120,008 * 144 * 122 1,440
02AF(ENY) ®II23
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